H & 0l & AHS B Ml A

SN C2D)
M E2ae|
=2 T2 AIERA2e (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2 34,226,661 26,145,102 8,081,559
= 277,500
== 1,105,000
Al 32,844,161
222 19,649,420 14,112,313 5,537,107
= 277,500
< 605,000
Al 18,766,920
CRAEFAI2 17,096,420 13,408,313 3,688,107
= 277,500
== 40,000
Al 16,778,920
C2EH| 3,563,504 3,720,064 156,560
101 e124d| 22,315 55,706 A33,391
M ORINZZ2NSE S 22,315 55,706 A33,391
O==28 2 ZSHIJl At 22,315
—JIZ2= 80,2403 x5 +21 22 16,851
-5+ 80,2402 x5 H+8= 3,210
—=0g= 20,060,000 4. 5% 903
—2LES 20,060,000 *3.545% 712
—1EEE 20,060,000 *1.75% 352
—&HEE 20,060, 0002 *0.966% 194
-3 711,127 %12.95% 93
201 et 3| 179,689 200,889 21,200
01 At22t2l] 1,390 2,779 21,389
OS2 EHl SAt 2t 222 S WA
69,5008 »202] 1,390
2 52434l 178,299 198,110 A19,811
OAlE &I Xl 1,980
—0l=J] =X/l 1,980
z=c/H| 50,0002 x0CH =23 900
sS4l 1,600& +2.52| & +9CH*303! 1,080
OXtgrdet] 31,780
—CE2EHE X |A22bl 28,240
z=c/d| 2,000,000 *2CH 4,000
=&l 1,500 %202 | B4 x202 & +4CH 24,240
—HI&Jl =Xl 585,000 ~6CH 3,510
OXNS XAl 960
—EIE(8E) 240,000 *1CH*23] 480
—283ER 80,000% x2CH =23 320
—=EIHEH) 80,0002 22 160
OdNERg= 740
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Hm: c2o
Chel: SZAIZ R 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—HIE(8E) 190,0002!»1CH*23] 380
—AESE 60,0002 *2LH*22| 240
—EEHIHEH) 60,0003 *22 120
OxtgaA=z 445
—EIE(8E) 295,000+ 1CH 295
—AHSE 50,000 *2CH 100
—EEHIHEH) 50,0002 *1CH 50
O+==2& tIId HzH
1,500 x52| EA 6 Al 268 3,060
O0el0I2279 OV & S8R=
17,5002 x290CH = 122 60,900
O0gl0IE25+4 CCTV |Al2el
1,250,000, 0002 *4% 50,000
OISR WS SIS RAI2l] 28,464
—EIIE A2 1,500,000 «9CH 13,500
—Ste= 25,0002 «29CH* 123 8,700
—dIIe3 18,0002 x20CH* 122 6,264
202 O4H| 2,040 2,820 AT780
01 2L AHI 2,040 2,820 AT80
Oxsge8d8 30|
60,0002 2 x102] 1,200
O=E2FHIRY 519 F4 ST0i)
60,0008 2& 72 840
206 M=l 104,460 130,649 N26,189
01 MZH| 104,460 130,649 N26,189
OZ2EH M7 63,080
~ERCR P48 =3E 2Y
25,0003 x1,000% 25,000
—HExy 2 E2 B8 S 24,000
- 2y 30,0003 +800m’ 24,000
—TZNEE Fads 7Y
10,0002 600 6,000
—CZ2NEE Zei=0U 7Y
1502 %40,000H 6,000
—229 BACT 2
65,0003 x8&H 45 2,080
OEZHMAIZ = A 7Y
250,000 *124H 31,000
Oscte Al +Y 60,000 »173H 10,380
305 ia =S 20,000 20,000
01 that=S 20,000 20,000
O=2 AMugd E ~Nia=s
20,000,000& *13] 20,000
401 A& HIX R0 3,235,000 3,310,000 AT75,000
01 AlZH| 3,230,000 3,310,000 80,000




2A E23
g 22
&l T2AIE R (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O2AZ 2AAE U IR S2I0/A
3,000,000,000& *14] 3,000,000
Otz ZEE S=SFT7AY
2,000,000 *35J £ 70,000
OSHsS NElRME 2ag MEXY
2,000,000 x40 80,000
ON&EHl gxtz 20,000,000 =4CH 80,000
03 A2 THYI 5,000 0 5,000
Otz & 2& FHl =& 5,000
-2 ¥ EL S =2
8,500,000 *0.4km 3,400
—3A &= TI=Hl 200,000 +8¥ 1,600
wg o Fu2e 81,500 85,000 23,500
201 Ler23| 31,500 35,000 23,500
02 s5=34l 31,500 35,000 A3,500
O |n 527 | 22| 89 19,500
—Su s |2 SS9 WY ===
1,625,000 1290 & 19,500
O™, Saea & B ==8(1
EXl) 1,000,000& 1290 & 12,000
401 Al HIZL 201 50,000 50,000
01 Al&H| 50,000 50,000
Oug & |1 2¢e] 50,000
-5 & s8] 2=+
2,000,000 %02 18,000
—wg ¥ BHE N 2FA
2,000,000 1694 2~ 32,000
AEEX & 0IXNSEX EX0HY 285,200 259,940 25,260
201 24 360 720 A360
01 At2teltl 360 720 A360
SIOI018, 5&, 2880t =
60,0002 62 360
202 04| 840 1,220 A380
01 2K 840 1,220 A380
OasgeF+8 04|
60,0003 x2& +73] 840
305 Hia =S 4,000 4,000
01 that=S 4,000 4,000
OAsEX AEE XS
4,000,000& *12] 4,000
401 AIZHIX S0 280,000 258,000 22,000
01 A28l 280,000 258,000 22,000
AEEX & XSS EXOHE 280,000
—EXE& (L&l 1087-1/H B SOHILE)
966, 1803 x144.9m’ 140,000
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
—EXS& (452D
273,437&+512m’ 140,000
2ot It2S |X2el 3,084,476 3,509,292 N424,816
201 er=23y| 1,859, 166 2,069,154 A209,988
01 AtR2t2|HI 10,753 15,361 A4,608
O=3g tH=J1 H 4
2,150,600 %52 10,753
02 S52g4l 1,848,413 2,063,793 A205,380
OIRS SAHUALY SaI
8,000 «650H A+ 128 62,400
Oz 22ts 2HAIAE R+ EEH
1,250,0002 122 15,000
OALIYR D2, BoIS FIIASE
141,500,000« 12& 1,698,000
OSIIFHH JI2S @Il B +
== 26,000,000 13l 26,000
Ot eI 1,413
—283EA |RAlZ2/H 1,413
Sl 1,413,000 *1CH 1,413
OBENE J2S ®IINER
3,800,000& x12& 45,600
206 M=l 255,310 319,138 63,828
01 MZH| 255,310 319,138 63,828
OMZHl 255,310
—JI2s AgE=E Me+Y 255,310
- 2ots 8| 75,0002 %1,300H 97,500
- OHS(LED 30W) &
260,000 *350H 91,000
JI=2S(LED 1200) +&
520,000 100K 52,000
Hots 82 A
170,000& »403= 6.800
- AHQY A S5 441,000 %10 4,410
- EI2 S(LED 150W) 360,000& % 10H 3,600
401 AIEHIX R0 970,000 1,120,000 /150,000
01 AlZ2H| 970,000 1,120,000 A150,000
Oz 2ots KRN 2A2(1.2.3.42%)
250,000& *2,800H 700,000
OSHs 2¢4S AEBA
1,000,000 x2007H 200,000
OJI1220ts 2elHE Cl nHl HUIZSA
10,0002 %5, 000K 50,000
Ozs FHE+SA
2,000,000 *100H 2~ 20,000
AStHEY BEHE=2 KX 793,700 1,006,355 N212,655
201 Ler23 | 153,700 171,355 A17,655
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Hm: c2o
&el: S2AIE 7R EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 1,829 2,610 AT81
ORJIE Xotite SHRE ANMES 28
914,500 *23] 1,829
02 S3=gHl 151,871 168,745 16,874
ORXIotate &It 2| el ===
2,450,000~ 128 29,400
OXlotxte & Ex2d2€s &Ies
4,000,000& ~12& 48,000
O33h, JrtHE dIes
1,139,000 x 12& 13,668
OXISHAt SSZAIMOI AIAE SHE
4,283,000 12 4,283
OXIBHAtE HEMOAIAE RA2+ S|
1,200,000& «12& 14,400
ongdae & Kot IV FAE2 89
] 1,110,000& x 122 13,320
OssttHE AHANE FXE+ SS9
650,000& * 122 7,800
OXlotxte & B2 I, &EIINE |2+ 21,000
—2&D] 680,000 * 1074 A 6,800
—XEAIE 40,0002 * 130K 5,200
—SEZ 1,400,000 *1CH 1,400
— st 550,000 #4042 2,200
—E2=2 2= 700,000 #2042~ 1,400
— =2 2,000,000 +27H 2= 4,000
401 AIZHIX 20 640,000 360,000 280,000
01 A28l 640,000 360,000 280,000
OZad 2 HAAL=S(UHM, 24 ,.68)
ddl sX2el 89
4,629,620 x90H 122 500,000
OXIotRtE AlE JHE AFY 50,000
—SYXGIAE(BE, 2xI| Hl)
40,000,000 * 100 2 40,000
—XGIXtE =82 A
2,500,000 *4H 2= 10,000
OXlolitE: EX2 =4
6,000,000 * 1004 2~ 60,000
OECHES AHAIE FZHI(HI.ES. 8
&) 30,000,000& *15] 30,000
2 =9 ANE=3Hl 1,740 23,282 21,542
201 Let=Ehl 280 400 2120
01 AtR2t2|HI 280 400 A120
OLdHXl= t 822 S 280
—8XE 500 x2800H*12] 140
—HNE L NEt2 800 *1750H 140
206 M=l 1,460 1,824 A364
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M E2ae|
=2 T2 AIERA2e (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 MHZH| 1,460 1,824 N364
O=4AXIZ =0 UHE MY
146,000& %105 1,460
ANEE Y HEAIE 2 22 |2 702,550 504,380 198,170
201 fet=2 3| 1,350 2,700 21,350
01 AtR2t2|HI 1,350 2,700 A1,350
OSol8as fd g4=E
135,0003 5 »23] 1,350
202 04| 1,200 1,680 A480
01 SLHoIH 1,200 1,680 2480
Ozl 80|
60,0003 x2& +63] 720
O=tI210 EZ0i|
60,0002 x2& *43] 480
401 AIEHIZL 2 THYI 700,000 500,000 200,000
01 AlZ8| 698,600 500,000 198,600
OAIZStEE HaAIE 22 |X2c 698,600
- EA 50,000,000& *23] 100,000
~HUNHEY - N B
25,000,000 * 1691 2 400,000
—SUZE ug BEF2LSA
19,860,000 * 1094 2~ 198,600
03 Al 20HHI 1,400 0 1,400
OANEESAY HYAIE =22 |2
1,400,000 %12 1,400
=HID1 & M=&Y 300,000 300,000
401 AlEHIZ S 0HbI 300,000 300,000
01 AlZH| 300,000 300,000
Ok=zH ZHPI & =& 300,000
—63 SHS T=2Y ZHDI
250,000 *400km 100,000
—03 FHY0| SHS =2Y ZHD
250,000 *400km 100,000
—AlUZ =28 SHDI
250,000 *4002] 100,000
2 HEE A 1,000,000 1,000,000 0
401 Al HIZ R 0HbI 1,000,000 1,000,000
01 AlZ28| 1,000,000 1,000,000
CSole B2 HWEE SAt 1,000,000
—2UH F2EZ2 HEY
20,000,000 #5002 100,000
—ANz == 2 HEY SAt
150,000,000 *6IH 2 900,000
CZANE=S EH 200,000 200,000 0
401 Al HIZ R 0HbI 200,000 200,000
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M CRuP
&el: S2AIE 7R EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 200,000 200,000 0
O=zaE & HEAIZ= dH| 200,000
— DY FY)
2,000,000 *25J 2 50,000
—T2HXE ZH|
2,000,000 +50IH 2 100,000
—C2AEE I
1,000,000 *507H 2~ 50,000
=RMe BEEX MES 60,000 60,000
401 Al HIY S CHYI 60,000 60,000
01 AlZH| 60,000 60,000
O=FMe B2 MEE 60,000
—=I)HECSEH MEE
2,540 %15, 748m 40,000
—S=EC3M AEE
13,8983 +1,439m 20,000
020259 AEH AL 140,000 0 140,000
= 40,000
Al 100,000
401 AlZHIZ SO 140,000 0 140,000
== 40,000
Al 100,000
01 Al&HI 140,000 0 140,000
OO0lel0I2 27 AEfZA
140,000,000 *13] 140,000
= 40,000
Al 100,000
CE2ACIUE Matst AIAE ASAMY 1,000,000 1,000,000
401 AIEHIX R0 1,000,000 1,000,000
01 A28l 1,000,000 1,000,000
O=ZZe|HE Hotsh AAE ASAIY
8,000,000 125km 1,000,000
s S0l W MIotESA 500,000 0 500,000
401 AIEHIZ SR 0HYI 500,000 500,000
01 Al&H| 500,000 500,000
OsF 430t ug MIESAH 500,000
EXEd 250,000& »200m’ 50,000
—NE=S2d 1,000, 0002 x50m* 50,000
— & A 30,000,000 *1IH 2 30,000
— WML 20,000,0002*14m 280,000
—E2H 1,500,000 60m 90,000
AEw W WHSA 500,000 500,000
401 AlEHIZ S 0HbI 500,000 500,000
01 Al&H| 500,000 500,000




2A E23
M CRuP
&l T2AIE R (Gt H2)
SA - ZE - B2(30) - HRAS of v G o HIDE2
Odsw LEHWHMSA
9,090, 9002 +55JH & 500,000
230t SEEA HEAY 60,000 60,000
401 AIEHIX R0 60,000 60,000
01 A28l 60,000 60,000
g=0tls SE2EHA HEAE 60,000
—=2 &X 20,000,000 *1H 20,000
—i=BXZ &X 20,000,000 *2CH 40,000
AL S2 It 29 100,000 100,000
401 AIZHIZ S0 100,000 100,000
01 Al&H| 100,000 100,000
OgMAIe S5 It 89 100,000
—SWAE S8 8t E9
5,000,000 *109H 2~ 50,000
—EOL 200l M2 Al 2
5,000,000 *109H 2= 50,000
ADIE JI2/22tE 228 (1oT) MOAIAE 3= 693,750 0 693,750
= 277,500
Al 416,250
401 AIZHIX S0HH 693,750 0 693,750
= 277,500
Al 416,250
01 A28l 693,750 0 693,750
OADIE Jt2(2eH)S LLEH(10T) MOAIA
B A=A 693,750,000 * 11 £ 693,750
= 277,500
Al 416,250
SEXoIT UHSHUXHAIE EXISA 290,000 290,000
401 AlEHIZ 201 290,000 290,000
01 Al&H| 290,000 290,000
OSHE oAt YIS X EXISA
290,000,000 * 190 £ 290,000
Z=RAGHE ASHYREHAIE EXSA 150,000 150,000
401 AIEHIZ SR THYI 150,000 150,000
01 AlZ8| 150,000 150,000
OZ=Xotxte MUXSHE X EXISAH
150,000,000 * 14 2 150,000
20246 ET O ALE 1,240,000 1,240,000
401 Al HIZL 01| 1,240,000 0 1,240,000
01 Al&HI 1,240,000 0 1,240,000
O=4dn & E283F M
600,000, 0002 * 17 2 600,000
OFTY M2 T2EISA
50,000,000 *1IH 2 50,000
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M E2ae|
Chel: SZAIZ R 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Os0EEZ 310 H(2E~UE) =23 &E2
EEESEENN, 30,000,000 * 100 2 30,000
OZd~HE ANTISH SHEEIAL
100,000,000 * 194 2 100,000
OF2 SZ0I2(0120I2) AREER 8
50,000,000 * 11 2 50,000
O4ot oH&0te o2 8IS AHEAMI)
80,000,000 *1IH 2 80,000
OANE 2HE0ts dgz ME 2 SHESA
100,000,000 * 194 2 100,000
OdAIE 2|02 M2 ZHSA
100,000,000 * 194 2 100,000
OdliEd aacl =2 MEHSA
80,000,000 *1IH 2 80,000
OoflEH A2 &2 MEHSA
50,000,000 *1IH 2 50,000
=2 OINE 500,000 0 500,000
401 AIEHIZ R HYI 500,000 500,000
01 Al&H| 500,000 500,000
O&k=z HOInE 500,000,000 * 191 2 500,000
2579 A 100,000 100,000
401 Al HIZ 2018 100,000 100,000
01 Al&HI 100,000 100,000
OO0l - =eI85 37 JHE AL 100,000
—AE=3Hl 2,000,000 «253] 50,000
—2E=FH| 100,000 »500m* 50,000
Y0 22 LAY 50,000 0 50,000
401 Al HIZL S 0HYI 50,000 50,000
01 Al&HI 50,000 50,000
OEEFH| 151,515& x330m* 50,000
FROAZW SIS dsHEAe 800,000 800,000
401 AlZHIZ S 0HbI 800,000 800,000
01 Al&H| 800,000 800,000
OO0 &2 SIHRES 4
AHS (20244 B 1SS W2 M) 800,000
—&AEH ES 80,000,000 *1IH £ 80,000
—E2LE HEs7
1,000,000& x720m’ 720,000
sSgE2 &4 900,000 900,000
401 AIEHIX SO 900,000 900,000
01 Al&H| 900,000 900,000
OEitS ADEE Sg32 &4
900,000,000 *19H £ 900,000
A2 FE=IAAMY 2,353,000 704,000 1,649,000

H

465,000




2H: &2
M =2l
&l AR Fe=RAY (EEEE))
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
Al 1,888,000
F0l =RAIS 2,253,000 604,000 1,649,000
= 465,000
Al 1,788,000
401 AIEHI L 204 2,253,000 604,000 1,649,000
= 465,000
Al 1,788,000
01 Al&HI 2,253,000 604,000 1,649,000
O84tUX2 SZEZAL
80,000,000& * 100 2~ 80,000
O SFaHE| HIZ=2 ZHIZ2At
200,000 *250m 50,000
OAE1,286 S2(2H2)EH| 2AF
50,000,000& * 10 2~ 50,000
OLHES 100K L2 S=FH| ZAH('244
SEDSA HETAI)
62,000,000 * 10 2 62,000
OgedH Sd0IS X2 SRR AH('24E
SUZEWSI AQ)
30,000,000& * 100 2~ 30,000
OgadH 2A=2| OlAR EXAZAN('4E EE
ZHDES M)
20,000,000& * 10 2~ 20,000
OMBIeiRe| C2EHTAN 244 SHEID
23 A) 25,000,000& * 10 2~ 25,000
OMP UEOIS IUHITA('UE SEX
HDPS M) 25,000,00021 1 4 25,000
OMB HIZDIS 012 M8 HETA( 23 =
HEHWEI AtR)
20,000,000& * 10 2~ 20,000
ONMNE EE2 HEHIZAH'YE EEXA
neE2 Alg) 20,000,000& * 10 2~ 20,000
Odgs = T2HINEZAH('E EEX
HWEZ AMH) 200,000,000& 121 200,000
ON8S ZHIZ 2= HHI2A('4E SYX
HWEZ AIY) 45,000,000& * 10 2~ 45,000
O£4H S=0IS oY OlAE EIXEZAH('24
S EEXXNEZ ALY
30,000,000& * 10 2~ 30,000
O X2=s HAM=SX|HEH L HHZ AH| AL
A('¢4E EHIAMNEZ AMY)
100,000,000 *1JH 2 100,000
Odats THE2 Hel SbIsAt
400,000,000& * 10 2~ 400,000
ONE U (MBS W~SEOHIE?Z) T 2&HE2
At 60,000,000& * 10 2~ 60,000
O=ds LBz 2sSH HUIZ2A
30,000,000& * 100 2~ 30,000




2H: &2
M =2l
SR ARR FO=JAIS
SA - BB -GS - MRAY - BES ofl b0 A
Ogts EX0I2 JUZ OtAZZEHIAL
60,000,000& * 100 2~ 60,000
OdlEXH HlsZ JUZ ZTESA
120,000,000 * 101 A 120,000
OASE XHIZ WE dollIg20 HH|
50,000,000& *1JH 2~ 50,000
OMES JIEY Y =4 & 252 0tAZ E
& 5,500,000 & *2I0 2~ 11,000
OfE 4J0IS o2 ZHBA
15,000,000 *1JH A~ 15,000
OJIBE 2= HHIZA
80,000,000 x 14! 80,000
OdlEXH JM=0I2 =22 ZUIZBAH
50,000,000& * 100 2~ 50,000
Ogirpt &8te] 012 HEBA
55,000,000& * 10 2~ 55,000
OgaH 2ts0I2 MY LA BA}
100,000,000 *1JH 2~ 100,000
OM® AtzHz JH|ZAL
20,000,000& * 100 2~ 20,000
& 20,000

30,000,000 %1042 30,000
S 30,000
OgdH JI28 EXISA
20,000,000& %104 2 20,000
S 20,000
OggH A2 FHIMG
100,000,000 170 2~ 100,000
< 100,000
OAUXIF EEES HEBA
100,000,000& %170 2~ 100,000
= 100,000

50,000,000 *17H 2~ 50,000
< 50,000
OHES OlAZ ZESBAM
30,000,000 *10H 2~ 30,000
< 30,000

20,000,000 %24 2~ 40,000
= 40,000
OME SsIZ2 HEAH
50,000,000 *1H 2~ 50,000
S 50,000

25,000,000& #1702 25,000
25,000

in
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Belr AnE FEU=JAY (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
& 255 24 N8BS S2IHESA 100,000 100,000
401 Al HIZL 201 100,000 100,000
01 A&l 100,000 100,000
O&Z 22-2E 2 AlZ85M &2 e B
At 100,000,000 *19H £ 100,000
SitusS2efd 200,000 0 200,000
s 100,000
Al 100,000
WSAtD &2 22X Ol 200,000 0 200,000
< 100,000
Al 100,000
401 Al HIZL 201 200,000 0 200,000
= 100,000
Al 100,000
01 Al&HI 200,000 0 200,000
OusSAtl 2= SARS
200,000,000& x12] 200,000
= 100,000
Al 100,000
AEe|F=AZ IS A 8,509,366 9,505,740 A9, 374
X SAA=EEZ HE 8,509,366 9,505,740 A996,374
SHFRAL ~ Xel0S2 S2IHESAHEA) 700,000 1,700,000 1,000,000
401 Al HIZ 2018 700,000 1,700,000 1,000,000
01 Al&H| 700,000 1,700,000 1,000,000
OSdF=7A~2elliEt E2HE
700,000,000 * 14 700,000
X ZAHEE=Z R 29 3,366 4,740 A1,374
201 fet=3| 966 1,380 N414
01 At 22|l 966 1,380 A414
OJIZAeESEI 172,0002 %32 516
GRS & SAEFRMN HE XE MEAY
50,0002 *92 450
202 04l 2,400 3,360 A960
01 =LHOHI 2,400 3,360 A960
OSYEH PR 2AZSZE0
60,0002 x2& x 102 1,200
OSOCANY &2 & AEa8l 22/0d|
60,0002 28 x102] 1,200
x|l 2=A7-UHS0ES2 E2HE 2,000,000 3,000,000 1,000,000
401 Al HIZL 01| 2,000,000 3,000,000 1,000,000
01 Al&H| 2,000,000 3,000,000 1,000,000
OZell 23XN7-US0HS 2t E2IHESA
2,000,000,000& *1IH 2 2,000,000
HES E+3Z TAHEZZESHEAY 500,000 1,000,000 /500,000
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M X8 315_ H dAHS
=S X ZAHE e (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 AI&EI L2 THE] 500,000 1,000,000 500,000
01 A&t 500,000 1,000,000 500,000
OUBE B4LEL CAHECR &
0,000,000 %14 500,000
ZN0IZEY TAIHEAE(ERZ) HEAMY 2,106,000 2,651,000 /545,000
203 =8| 1,000 1,000 0
03 A= PR FZ| 1,000 1,000 0
OFII0ITY TAAHENE(ER) HEAY
Ol HE SRFA 1,000,000 *14] 1,000
401 Al HIZL 201 2,105,000 2,650,000 545,000
01 Al&HI 2,100,000 2,650,000 /550,000
OXd =SSN FH ZAEEZ e 3
At 2,100,000,000& *1JH 2 2,100,000
03 Al =2 THHI 5,000 0 5,000
OFJIIDIEY TAIAEEZ JHE AE=RUH
5,000,000& *12] 5,000
SANAHEANE(ERZ) HE ALY 200,000 500,000 A300,000
401 AIEHIZ SR 0HYI 200,000 500,000 A300,000
01 Al&HI 200,000 500,000 A.300,000
OXTH SE0X & HEXUZ EXISA
100,000,000 *17H 2~ 100,000
OZdd HEFA 28 JI2ZAEHES
100,000,000& 12 100,000
01T SAIHEANE(E2) LA (2EHH) 3,000,000 3,000,000
401 AlZHIZ SO 3,000,000 3,000,000
01 A28l 3,000,000 3,000,000
OXSE 2= 0IHT=Z HESA
3,000,000,000& *1JH 2 3,000,000
PSS E2EEF X4 3,472,280 2,063,160 1,419,120
= 500,000
Al 2,972,280
&N E2 2| 1,571,560 652,160 919,400
NENEZ2IHE 1,451,560 652,160 799,400
202 04| 1,560 2,160 2600
01 =LHOHI 1,560 2,160 2600
ONEH=ZIHE A FEF2
60,0003 x2& +73] 840
OXEHZHAOILE, 3ISEA 0]
60,0003 x2& +63] 720
401 AIEHIX R0 1,450,000 500,000 950,000
01 A28l 1,450,000 500,000 950,000
OXNENHEZ FHI
60,000 8,000m*2. 5m 1,200,000
OZE~-8u(S420) MHENEZ HESA
250,000,000& %12 250,000
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U DA 28 X4
el e E=2 22 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=0 TEANC2 AIDRIE XS HEINS A (2024 120,000 0 120,000
EoHE = AIS 1Al)
401 Al HIZ S 0HbI 120,000 120,000
01 Al&H| 120,000 120,000
O=&e2 UENTZ ALDIE XS orE Y
A 120,000
—NEHEEHE 5,000,000 * 104 2 5,000
—HEZZ 5,000,000 * 104 2 5,000
—d8k= 90,000,000 * 1742 90,000
—orMAlE 5,000,000 174 2 5,000
—JIEHEAE 8)
15,000,000 * 104 2 15,000
SHEH e 2 1,900,720 1,401,000 499,720
< 500,000
Al 1,400,720
SHZEZHIA 800,720 1,301,000 A500,280
202 04| 720 1,000 2280
01 =LHA LI 720 1,000 A280
O2™&F e NDILE X 283 4
60,0003 x2& +63] 720
401 Al HIZ S 0HYI 800,000 1,300,000 500,000
01 AlZ2H| 800,000 1,300,000 A500,000
Oz JHl At
50,000,000 * 1694 2~ 800,000
22 ZHID] At 100,000 0 100,000
401 Al HIZL 201 100,000 100,000
01 Al&H| 100,000 100,000
O=dz =4I A 250,000 *400km 100,000
AIFEAL =8 2atiatd AL 1,000,000 0 1,000,000
= 500,000
Al 500,000
401 Al HIZ S OHbI 1,000,000 0 1,000,000
=S 500,000
Al 500,000
01 AlZ8| 1,000,000 0 1,000,000
OtIEAL =81 23EE HAAIS (D EAY)
100,000& %10,000m" 1,000,000
< 500,000
Al 500,000
SHEXNS =22 1,828,000 0 1,828,000
sHEZ=EH 1,828,000 0 1,828,000
SHEEZZ e & SHAE 570,000 0 570,000
401 AlEHIY R0 570,000 0 570,000
01 Al&HI 570,000 0 570,000




2A:

S22

MM SHEXNYE =22
@2l SHESZEY| (SH &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
OsHEEZZ & 2 SEAY 570,000
—A% 1UsH 40,000 *1,300m*4m 208,000
— A3 208 M 47,000 *1, 100m*4m 206,800
—g2 10324 31,0002 *687 . 09m*4m 85,200
—olE 2062 35, 000& *500m*4m 70,000
SHE FO0=JAAY 1,258,000 1,258,000
401 A& HILE0HY] 1,258,000 1,258,000
01 Al&H| 1,258,000 1,258,000
O=X™H X202 o2 0tAZE MR8
A AFR] 475) 10,000,000 *1JH A 10,000
Otd™H WS0E ot 0tAZE TIMRD| =
AH(EUWe2l 387) 20,000,000& * 10 2~ 20,000
OBH MEDIS YR HLYDA(SY
21424-15) 30,000,000& * 100 2~ 30,000
O=dH QHEDIE oHY OtAR TIMRI| B
AH2 2] 438-12) 20,000, 00024 +174 2 20,000
Ol SUOtE o1 ST
25,000,000& * 10 2~ 25,000
Ogel gt X2 & ZA
200,000,000 *1JH A 200,000
OdllE HE0IS =2 ZH|IZ2At
250,000,000& *1JH A 250,000
OgadH 0|0~AU0IE 2 sHEEE &H
SAH 25,000,000& * 10 2~ 25,000
OYotH SI(0I2 MYz EEBA}
25,000,000& 100 2~ 25,000
OXMAIH S4H0I2 HHKA S23At
25,000,000& * 10 2~ 25,000
O&F5 SA0IES o2 ZEAZA}
30,000,000& * 10 2~ 30,000
O=F2H 2102 0tAZ LA ZAL
18,000,000 *1JH A& 18,000
OtdH 2HOIE2 A2 SLEZAL
30,000,000& * 10 2~ 30,000
OdHEXH MA22, 42| =2 OrRITEE
250,000,000 *1JH A~ 250,000
OtHEXH A0S o2 SEZBA}
250,000,000 *1JH A 250,000
OdllE™H A0S oHZ HH|ISAH
50,000,000& * 10 2~ 50,000
HMSAAH|(Z21) 767,595 473,889 293,706
ol 2| 689,886 401,424 288,462
ol =29 y|(AHAl) 689,886 0 689,886
101 2124d| 641,020 0 641,020
01 B4 94,644 0 94,644
OAZIRIZEY
11,050 x22H *x30A| 2 128 94,644
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2 JlEE 2 4 3,8% 3,8%
OARRIeIRR4Y
10,8213 x1&x30A[ 2+ 123 3,8%
03 SRH(RIH )22 U2+ 542,480 542,480
OSRA(RIAHA)2ZE2N B 542,480
—Jl2s 1,960,000 7 &+ 1204 164,640
—SEFOHI 1,170,000& x7 & 23] 16,380
— NG 140,000 x7E* 1204 2 11,760
—AF2d 230,000 «7&* 120 2 19,320
— X8+ 500,000 x7E* 1202 42,000
—AESE X 145,000 +7H* 1200 2 12,180
—E&3 60,000,000& *13] 60,000
—A2t2 25
25,0002 #7 B+ 1200 B+ 122 +3A| 2t 75,600
—5E2F=
30,0003 x7E*12JH S x 10D #4A| 2+ 100,800
—JtE2E 70,0002 x7&* 12042 5,880
P UEE: e e =,
400,000 x2H 43| 3,200
—3=2+ 980,000 x7H*23] 13,720
—d2sd s 6,720
— ¢ x==g 10,280,000 *13] 10,280
201 Ler23| 9.470 9.470
01 At2teltl 8,930 8,930
Okz=2+¥ II=HI 4,770
— &S 150,000 64 900
—&et=s 300,000& +6 1,800
purakcl 150,000 «6& 900
—&g2 50,0002 6% 300
—gertl 50,0002 6 300
~=sl 45,000%+62 270
S urSEN) 50,0002 64 300
OEz2E+2 Hl&22 s4|
9,000 x6& *40 2,160
Ot otE 2 24 W FH
2,000,000& %12 2,000
02 s3=gHl 540 540
O2E+2 FHXI=H|
90,0002 64 540
04 HSRESS 39,3% 39,3%
04 R (RIHA)22N BEESRES S 39,3% 39,3%
OZ2RH(RINAH)2EX 283 2HZ S 39,3%
—0sSEE 200,000 «7H*12& 16,800
—22EE 140,000 x7&* 122 11,760
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—1UEEE 70,0002 78 * 12 5,880
— & HEE 40,0003 7 *12& 3,360
—IRLEE 19,0003 x7& 123 1,596
=&4| 77,709 72,465 5,244
JI23Hl 77,709 72,465 5,244
201 =3 34,029 37,185 A3,15%6
01 AtR2t2lt] 32,537 35,528 22,991
OgstagH| 18,497
—=AD| Y2 900,0002 122 10,800
—=AEX 7
28,0003 *708 Ax23] 3,920
—JIZARESH
9,5213+238 122 2,628
—&3)| dE= 31,9002 =3+ 122 1,149
OJl=YeLBS 915 FA|
0002+ 132 * 1041+ 12 14,040
02 S3=gHl 1,492 1,657 A165
OsE2= & HA 1,240
—C20 ERXE NSHAl 60
ASHSER 30,0008 *22] 60
—XgdME 80
A ESEX 80,0002 1CH 80
—RER=S 100,000& *112] 1,100
OHE3pc SHR= 21,0002 12& 252
202 04l 38,640 30,240 8,400
01 =LHAHI 38,640 30,240 8,400
OJIZ22UHEHNH
140,0002 «23E * 12& 38,640
203 =4l 5,040 5,040
MU FAZSHIFII 5,040 5,040
OFAMEZE =
420,000 123 5,040




